A & ol & AF & Ml A
20198 = =0l & JIEtSE
g 200 Mel+=¢
2 210 ZHEAA+Y
g 212 B2 (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
ES Al 15,466,427 19,424,778 A3,958,351
200 M2l +=¢ 509,652 441,554 68,098
210 & HAN 2= 152,652 152,197 455
212 AHBE ¢ 3,375 0 3,375
212-08 JIEtAE ZE 3,375 0 3,375
[ =UHESEIA ] 3,375 0 3,375
< WS > 3,375 0 3,375
O2AL=INE AIEZ 3,375,000& 3,375
214 ANgE=¢ 7,500 8,000 A500
214-02 =i =+¢ 7,500 8,000 A 500
[ =XUHEEEIA ] 7,500 8,000 A500
< WS > 7,500 8,000 A500
ORE SEFXE FXR 7,500,000& 7,500
216 Ol Xt=¢ 141,777 144,197 N2,420
216-01 33030l XK=~ 139,000 140,000 21,000
[ A=2SHIISELSA ] 2,000 2,000 0
<sNEHY > 2,000 2,000 0
O30 =0l A== 2,000,000 2,000
[ 2MAFHTN AR IAAMEELES I ] 8,000 8,000 0
<AL > 8,000 8,000 0
OLIEAFHNAX ALY Ol Ah==¢ 8,000,000 8,000
[ SSHLAMLELSIA ] 29,000 29,000 0
< EAIZ > 29,000 29,000 0
O330=014 = 29,000,000 29,000
[ =Z2HEEEEA ] 100,000 100,000 0
< EL > 100,000 100,000 0
O30 =0l A== 100,000, 000 100,000
216-02 2128 Xt=3 =0l Xt=+=¢ 2,777 4,197 1,420
[ YHLZ=HIAXNIAMLSELS A ] 2,777 4,197 A 1,420
<AL > 2,777 4,197 A 1,420
Ooglngx3al s 0l X 2,777,000 2,777
220 BAIEH A2l == 357,000 289,357 67,643
223 M =LUEHES 140,000 140,000 0
223-05 WEH = 140,000 140,000 0
[ =XUHEELSA ] 140,000 140,000 0




: 200 M4
T 220 YAIEAIQ Y
g 223 BESLVEBES (2l &)
&H-a-8-5 Oll &FoH & 0] A oH Hlw =2t
<WED > 140,000 140,000 0
OFHX2AL DEN2 140,000,000&! 140,000
224 J|EF ¢ 185,000 79,357 105,643
224-06 19+ 185,000 79,357 105,643
[ 2203 SEEA ] 10,000 10,000 0
<ENFHY > 10,000 10,000 0
OAZ3 UMY BHOIS2 10,000,000 10,000
[ 2HAZHTAXAANLSES A ] 175,000 69,357 105,643
<AL > 175,000 69,357 105,643
OFELAUNATAANY HET T 30,000,000 30,000
OFBALUMATAAY HEAT XtoH 145,000,000 145,000
225 XdAT4¢ 32,000 70,000 38,000
225-01 XA 42l 32,000 70,000 £38,000
[ =XNESEIA ] 32,000 70,000 38,000
<WED > 32,000 70,000 38,000
OXdEc 49 32,000,000 32,000
500 X3 12,788,610 15,881,248 A 3,092,638
510 2DE2 X3S 12,750,338 15,849,085 A 3,008,747
511 2NBX2S 12,750,338 15,849,085 A3,098,747
511-01 32 X2 191,360 160,816 30,544
[ 2203 SEEAH ] 191,360 160,816 30,544
<EXNFYHY > 191,360 160,816 30,544
OAZ2SHHH X 8,000,000 8,000
Oooz30 +3X X 129,440,000 129,440
OS2 302l Ab 212t] 53,920,000 53,920
511-03 J| 2 12,558,978 15,688,269 A3,129,291
[ HHEAZBIANALSLESZ A ] 479,000 461,600 17,400
<AL > 479,000 461,600 17,400
OF¥BrumL XA 319,000,000 319,000
OFFYLUNL XA 160,000,000 160,000
[ 2 EMEASEEH ] 12,079,978 15,226,669 A3,146,691
< EAD > 12,079,978 15,226,669 A3,146,691
OZFINEANE 29 4,748,170
- 33 EHMUANE 29 3,788,253,000 3,788,253




& 500 ExX3
Z: 510 2nEx3ES
& 511 2NLE3ES (2r9:88)
E.2-8-2 0l &k o8 B ol by Bl =2t
— A E233ot=HelAE 2 212,871,000 212,871
— 2= XM2AE 2F 747,046,000 747,046
OdIIz=Ad 4X 1,939,000
—E2d33ot=HelAl4 47,000,000 47,000
—SrAA233ot=HelAld 327,000,000 327,000
- =0, £ 3222 649,000,000 649,000
—SdAL TAE=(SU2, H=2l) 551,000,000 551,000
—JtEZ L &222 185,000,000 185,000
— 4o, FE o242 79,000,000 79,000
—8els36ta=HMeAE SE(I1X) 79,000,000 79,000
—MRBIEEHMAANE SE(1X) 22,000,000 22,000
OZIIZ=AE HAXI(NE) 488,511
— S3ot=X2Ald =d 63,261,000 63,261
— 4223 3ot=HMelAE o 44,550,000 44,550
— 2L XeANE H=H 380,700,000 380,700
OF0I X2 At 3,452,589,000 3,452,589
OB XNIAMdEI & B 2SXNA 27,708,000 27,708
OHERE 28Xl At 40,000,000 40,000
OoxgsgacAtg 207,000
—HIE/AZAE 2UHEHS 75,000,000 75,000
—0lE It & 57,000,000 57,000
— s AMHHE = 75,000,000 75,000
OHIE2E M2 ALS 22,000
—=E2H(gHEASSA) 22,000,000 22,000
OSZHIMY (S SSTAAHRS) 420,000,000 420,000
OR+=FUXN A (=T &2 FH|) 735,000,000 735,000
520 Al - SHIEXZZ=S 38,272 32,163 6,109
521 Al - EHIEX2S 38,272 32,163 6,109
521-01 Al - SHIEXZS 38,272 32,163 6,109
[ A=230HII2EE3EA ] 38,272 32,163 6,109
< SXEMY > 38,272 32,163 6,109
Odz2sHAeEZX 1,600,000 1,600
oodzs0 ==i XA 25,888,000 25,888
Ooza0a2elA el 10,784,000 10,784




I 700 24 LSLUHE N
Z: 710 BALUS
g 711 203 (SHeada)
&H-a-8-5 Oll &FoH & 0] A oH Hlw =2t
700 EXSLSLUHE AN 2,168,165 3,101,976 £A933,811
710 284S 877,975 1,356,387 NA4T8,412
711 2012 771,275 1,187,387 A416,112
711-01 =AY AH 2 771,275 1,187,387 A416,112
[ AHAZHIAXAANLESS A ] 210,782 20,000 190,782
< ALY > 210,782 20,000 190,782
O=MALNH23 210,782,000 210,782
[ SYNSANLESEFH ] 361,837 361,837 0
< gX2FM > 361,837 361,837 0
O=MA Y3 361,837,000 361,837
[ =XESEsIH ] 31,125 28,097 3,028
<WED > 31,125 28,097 3,028
O=MALNH3 31,125,000 31,125
[ =2MEEL3H ] 167,531 757,453 589,922
< A > 167,531 757,453 A 589,922
O=MALNH3 167,531,000 167,531
713 832 34¢ 106,700 169,000 A62,300
713-01 QA B33 4+ 106,700 169,000 A62,300
[ 2HAZHTAXAANLSES A ] 106,700 169,000 A 62,300
<AL > 106,700 169,000 A 62,300
O8M3 &= 106,700,000 106,700
720 LHS 01 2H 1,290, 190 1,745,589 A 455,399
721 M3 1,290, 190 1,745,589 A 455,399
721-03 JIEIEI H A Y3 1,290, 190 1,745,589 A 455,399
[ 23033 ] 831,326 718,530 112,796
<EXNFHY > 831,326 718,530 112,796
Ogers ) A3 Z & 831,326,000 831,326
[ =XESEsH ] 147,079 50,000 97,079
<S> 147,079 50,000 97,079
Ogers ) A3 147,079,000 147,079
[ 2 EMLASLEH ] 311,785 698,059 386,274
< A > 311,785 698,059 A386,274
OYBHB| HAAS (HIH QA2 AL 22 9,500,000 9,500
OYBBHFUYZ(2EE BIHAY XA 280,000,000 280,000
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